
Day4-MCR3U Multiplying and Dividing Rational Expressions

Recall: Evaluate
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Example 1 Simple Case 

Simplify and state restrictions
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Example 2 Multiplying Rational Expressions V-J 

Simplify and state restrictions

x2 — 9 x2 — 4
_____ X__________
2x + 4 x + 4x + 3

/ 1) Put brackets around numerator and
( x i»y denominator

•7 ( ^ / ' 7
2) Factor

Cx-. ^ j: 4 ..3) State restrictions

9 C-x-t-O.

4) A factor can be cancelled if it appears 
in the numerator and denominator

5) State final answer and restrictions 
again!



*Note: Always state restrictions before cancelling!!!

Example 3 Dividing Rational Expressions: Simplify and state restrictions
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Practice: Multiplying and Dividing Rational Expressions

1. Simplify and state the restrictions on the variables.
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2. Simplify aYicJ state the restrictions.
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3. Express each product in lowest terms.

3y-9 6yz

d\ :d'cJ (J
t> cx

bp-12 2/7 + 2 
b) —------x-o.------

5/7 + 5 3/7-6
c)

362 362

: • - )

( 3 X 3 f... ((

cx.,,
' TTn
xz-yz x-4
---------- '---- y------------
A-2 -16 A'-/

a k 4 o-

0\0- u

%
3 ^

4

3
x

, It
-XL -i 3



4. Simplify each quotient.

. k + l ka —t---- 4--------
k2~ 1 k-1

x2 -4 , x-Z 

x + 3 x2 -9
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5. Explain why there may be more restrictions when you divide rational expressions than when you multiply the same two
S s f °n coH.+.--2expressions. Use an example to illustrate your explanation.
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6. Simplify.
. x2 + 2x + l x2 — x

a)------------------ x-
X2 -1

(/:x>+',0
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X X ~3 2.

2x2 - A'-3 x2+*-2
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x2-l 2x2+x-6
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7. Simplify.
X2 — 1 X2+2x-3

a)
x2 + 6x + 9 x2 +6x + 9

x 3x/ + 2x2b) (4x2 -9/2)x-
,£72+10c7 + 25 a2-5a + 6
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8. An estimate of the cost, in billions of dollars, to keep the atmosphere in Canada x percent free of a chemical toxin is given by

x-2 xz+12>x-A0c(x):
I00x-x2 ' 5x2+100x

. Find the cost of keeping the atmosphere 90% free of the chemical toxin.
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9. Charlene could not evaluate the expression 

why.

15xz +7x-Z , 6x2 -11*-10 
2x2-x-15 ' Ax2 -25

for x = 2.5. Simplify the expression and explain
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10. Simplify

m-mn
6mz + limn + 3n2 2mz -mn- bn2

Am2 - 7mn~2nz 
3m2 + 7 mn + 2n2
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Homework: p. 121 #(l-5)bd, 6-10,12,13


